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General Instructions: There are total 55 questions in this question paper.

—

o O

. All questions carry equal marks.

Each question carries 0.77 mark.

Question paper is divided into three sections - A, B and C.

Section A has 25 multiple choice questions. Attempt any 20 questions.
Section B has 24 multiple choice questions. Attempt any 20 questions.
Section C has 6 MCQs based on a case study. Attest any 5 questions.

Choose the right answer out of the four options given in each question.

9T
e/
Q.No.

s & SECTION A
@S -F A 25 W §1 59 WS § et 20 weal F 3w AfSvl wgd 20 weaAl 1 & HeAiwar A Fmeam|
Section - A consists of 25 questions. Attempt any 20 questions from this section. The first
attempted 20 questions would be evaluated.

T 3foId T & o foRar a1/ am 1 71 Fhgardr § ?
. Shifaer
. 3eifaer
A SE T
g, HHACH
What is the work done to earn money called?
a. Career
b. Livelihood
c. Meaningful work
d

Shramdan
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3T PeAfafld & & fRT ER #1 gea 38 fad & O 9 a1 e & aXeme

IR

&, AR qraAr

g. 1 H @asr

T, FHA Eferar

. el
Which of the following food would you suggest to a person who is having trouble in chewing
and swallowing?

a. Coconut water

b. Soft khichri

c. Soft dalia
d. Banana
rafaf@ad & O S a1 dFTcus W &1 [FFeq A8 §7
&, Coo
. feaw qaHrer oy
. a9y a8
. TR AT

Which of the following is not an option of substitute care?
Creche

Day Care Centre

Special home

oo oo

Caretaker

4. | @ F @ ®iT o Aoy @dy 78§72

fafafda e -a9s 3R a8

e gcUee - eleqicen oY

NS W - FA AfSIA drer JA7S
Which of the following option is not correct?

a4 g 3

a. Preserved Food - Canned Fruits
b. Manufactured Food - Papad and Badi
C. Food Derivatives - Vanaspati Ghee
d. Synthetic food - Low sodium salt

5. |9 Ush chfdd & HR FuTg T Jolell A GATC =61 BIcl,all 3§ &1 gl © ?
&. &TIRNY
g. SlaraeT
. 39 A
. fa o

When an individual’'s weight is not adequate relative to height, what is it called?

a. Wasting b. Stunting
C. Underweight d. Overweight
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farafaf@a & & *ia a1 [Aeg 1 e 937 IRAF gTeaardr sfFA ¢ FaHr 366 6 a¥
¥ HA Y & eal F T Fareey, 9or 3R RAS RAGT H 3TavTerdl H G HTET §?
%, IS AT,
g, TASLUA.
. T AU LN,
. U379 a3
Which of the following is the world's largest early childhood programme aimed at meeting
the need for health, nutrition, and early education of children below 6 years of age?
a. ICDS
b. MDM
c. NCPCR
d. NIPCCD

@ey fAATT 3T HSROT F1 g8 3urerH, SHA Sl rHl R T AT A & gcde TOT W
fardr & e Rar Srar §, FiaT @ g2

%. Tg.THELELdr (HACCP)

g. SI.tA 9. (GMP)

1. SiLTgdr. (GHP)

T, 3T$ T3, (ISO)
The approach to food manufacture and storage, in which raw materials and each individual
step in a specific process are considered in detail, is called-

a. HACCP
b. GMP
c. GHP
d. 1SO

Rifecas 3readrer # o1l W & fav Rfscda R # 3R deog fowdr § 3R 38 o
FAT F v T F T FaT R AR FEAT R ?

F. 3ER faws

. YIETRITel M TEhsh

. AHETAATST HIHAr

T, IEIAT il & THST

The doctor writes dietary advice for a hospitalized patient in the medical record and relies
on which of the following to implement it?

a. Dietitian

b. Laboratory Research Assistant

c. Anganwadi worker

d. Chef of hospital canteen
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9. |FEafaf@d & & Fi7 ¥ gar Fdeehar A& &2
@. T AR SIS gar
g A & ug W@ gar
. fRuR, Ay &7 & fRaRar
g 3Tt A e
Which of the following youth are not vulnerable?
a. Rural and Tribal Youth
b. Youth studying in school
C. Adolescents, particularly female adolescents
d. Youth with disabilities
10. | 9T faume &1 Hla @1 geoe Rl off A & @3t ARl 1 FATTar 1 AR &ar ¢ |
C 16 (1) 4. 21
IR 25 . 370
Which article of the Constitution of India guarantees equality to all citizens in any employment.
a. 16 (1) b. 21
C. 25 d. 370
1. | gt 1w a@ 3 T |
. T g. fodr a@
. 379 qyor . glerdr fashR
Micronutrient deficiency is also known as :
a. Malnutrition b. Hidden hunger
C. Under nutrition d. Deficiency disorder
12. | 0T & @ Sl @1 SAHA Jeusr & fau w8 g2
%. JCUH
. e AN TS JerrawAr YA Arofelr
A HEA ¥ IR gars arw
. Asd Rfecar S@erer sHear
Which of the following programmes is not for the elderly?
a. Old Age Homes
b. Indira Gandhi National Old Age Pension Scheme
c. Free rail and air travel
d. Mobile Medicare Units
13. | 14 =98 2010 &I, ART TWFER o HRA F TIeT THEHOT 3T FH Feldl e & fov rafaradd

;o Fad Tumaer $r avor $ir 3R fhde @Ear #7727
%. ggd Tied HHYS UTeh, 30
g, Weg HEUA HER 3¢, 15
A Weg FHHA HER 3ehT, 30
°.  ggd Wied HA dieh, 20
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On 14 January 2010, the Government of India announced the setting up of which of the
following and in how many numbers to boost the food processing industry in India?
a. Mega Food Processing Parks, 30

b Food Processing Cottage Industries, 15
C. Food Processing Cottage Industries, 30
d. Mega Food Processing Parks, 20
14. | qU, q¥ 3R ©% 8 JhR & 3R & 3860 ¢ ?
% gmfEa . A
I R A A
Soup, milk and buttermilk are examples of which type of diet?
a. Modified b. Soft
C. Mechanical soft d. Liquid
15. | Tp13e 3iR IS8 T U §37 FHT AT Lol T FAT Fgl ATl g7
%.  TAAR.H.T. g, Sl
A HTathA g WE
What is a large gathering or rally of scouts and guides called?
a. NYKS b. Jamborees
C. OXFAM d. Parade
16. | SIete@ray a1 wAeae, Rl off avq F W& AT 3T ITaedd Jadal i Hemer, S 38 gerd
T IOTIRT FT FHA FI <, FAT Fgeldl § ?
®.  HGuUT . AT
T 3R g, HEHAOT
What is intentional or accidental addition of a cheap or unnecessary ingredients in food that
diminishes its quality called?
a Contamination b Adulteration
c Intoxication d Infection
17. | IDA &7 QU & &1 87
F. IR gddr faerR
g. 3RS §leldl ®hide
A, dlg da gedr e
T, dlg dcd T AT T IRFIT
What is the full form of IDA?
a. lodine Deficiency Disorder
b lodine Deficiency Delay
C. Iron Deficiency Disorder
d Iron Deficiency Anaemia
18. farT &7 & sl a1 Afger qulFastor #1 3gEIor g2

&. fosed umas g 3ehmr . T A 3T
AT HI ST . S8 a3 §9E gt Aselr
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Which of the following is an example of women empowerment?

a. Lijat Papad Griha Udyog b. Khadi Gram Udyog
c.  Mother Dairy d. Beti Bachao Beti Padhao Scheme
19. ey Yerdi # T ST dTel 37999 gld ¢ foiethr R & fharcrs ar sifas fhareferar
gI ¥ 3R TareeT F IR aa ¥
&, e W gery g.  9ed I
CIA | L 143 g, 9Y& ded
are constituents present in foods that have physiological or biological activity and
influence health.
a. Medical foods b. Phytochemicals
C. Nutraceuticals d. Nutrients
20. |3fasd @y uere 9 -
F. S S TS A8 @
. S 130 2 Gedig dd &9 gl gid
I 1T 2 e T e G g
g S A 1 9 ds T A8 g
Non-Perishable Foods are the foods-
a. that never spoil
b. that do not spoil in 1 or 2 weeks
C. that do not spoil in 1 or 2 days
d. that usually lasts for 1 year
21. | U 9T Sifa fFa av & e 9 ?
&. 1991 g. 1992
aT. 1993 g 1994
National Nutrition Policy was adopted in which year?
a. 1991 b. 1992
C. 1993 d. 1994
22. | 999 OUR WIS HSIT H fE &

*. FEQU art 3N siefte Juer
g gEqu , @At AR i Faree
. had digfe  HYer
. o TEJU
The World Trade Organization Agreement covers

a. Goods, Services and Intellectual property
b Goods, Services and Natural Resources
C. Only Intellectual Property

d Only Goods
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23. |39 TICATORT & IIACT Wolde H T of I &1 FHR HBeldl & [T 319 & hleT A7 07 el
HTIITF g7
F. e H =S 3P gar . FI AgAd I 3TOT
A YAdTST BT 28 iR &7 & AT g
You are participating in a school entrepreneurship project. Which quality you should possess
for its success?
a. Good score in exam b. Desire to work hard
c. Wealthy d. Be physically able
24. | FlT ¥ @iy verdf @1 Sar] 39N geftr & faw s e #Rd g2
F. O gad 96 . THFT Gerd
T HrEf . faer®er & aRqeT @ gery
Which foods do bacteria prefer for their growth?
a. Protein-rich foods b. Fatty foods
c. Carbohydrates d Vitamin rich foods
25. |gqu 3R 33 I IS dLE ¥ Tl Y Wiel & AT o1 §7?
F. YifSehar dg S g |
. fafda C gg Jrar g |
I, HleAIAAT ASC g AT §
g 3faed g aa € |
What is the advantage of eating well cooked milk and eggs?
a. Increase in nutrition
b Vitamin C gets enhanced.
c. Salmonella gets destroyed
d Becomes non-perishable
s @ SECTION B
s - @ H 24 Wo §1 30 @3S ¥ fhedl 20 weaAl & 3R S0 wgd 20 weaAl F1 § Ao
foram S|
Section - B consists of 24 questions. Attempt any 20 questions from this section
The first attempted 20 questions would be evaluated.
26. | ¥R H IS Sl T TAEEA H AR Jefe T HET HROT 471 § ?

%. gey Sl o fAU @Ergdr @ W dansit # gefer
g, Sllae JeanRn # gefe
A IF FT T FHASAR gl
. URURe Hedl # el
What is the main reason for the steady rise in the population of senior citizens in India?
a. Increase in support and counselling services for older people
b Increase in life expectancy
C. Being financially weak
d Firmness in traditional values
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27. | T O fHA &, SHH o A FAR § | € 3¢ T AT of IAT | Tg TAELT STIHTS HT
HleT T TR § ?
& wafAs g. gfadas
I, HAegfAS CAGRIRCD
Ramu is a farmer, his old mother is not well. He took her to District hospital. This is which
kind of health care?
a. Primary b. Secondary
C. Intermediary d. Tertiary
28. | MU A St & SR F °el T cTel TN, S el IR arelr frer gF ar:2m | Ig i a1 @iey
dhe § ?
®. Hifaes &
g. OIS The
T, Sfaw dee
" JEAolfde Hehe
Your mother bought chickpea lentils from the market, which turned the water yellow when
washed. Which food hazard is this?
a. Physical Hazard
b Chemical Hazard
c. Biological Hazard
d.  Microbiological Hazard
29. | fAene &RT -
A 3mS. &3 . i TSET (9T foReress wrdha
B dwor §iar =T wrishA i.  3eerquil At
C 3R [ HRHA iii.  Thrhd aTel fasrE dard
D HISe &t HrdshA iv.  FEATE o HrIHA /
A.uA g AfFd AT Jister
e fasen giav|
&. Aiii,Bi, Civ, Dii . Aiii, Biv, Ci, Dii
aN. Aiv, Bii, Ci, D iii g. A, Biii, Cii, D iv
Match the following -
A ICDS i. National Prophylaxis Programme
B Nutrient Deficiency Control | ii. Annapurna Scheme
Programme iii. Integrated Child Development

C Food Supplementation Services

iv. Mid - day Meal Programme /
PM Poshan Shakti Nirman Scheme

Programme

D Food Security Programme

Choose the correct option.
a. Aiii,Bi, Civ, Dii b. Aiiii, Biv, Ci, Dii
c. Aliv, Bii, Ci, Dii d. A, Biii, Cii, D iv
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30. | T A HrsT T B Goelleh AT F 3N & fAv qRar e ddemfos dwsrer yere
AT 82 3H W H Tk Al fohdel S<al I S@HATT  FIAT 872
&. TH.3.TH. 91T g AR 10 -15 J=a
g. TA3N.TALTE. 3R 15 -20 d=
. T 98 3R 1-10 §=3
q. AT, 3R 20 - 25 S
Which organisation provides family based long term care to children to recover from traumatic
experiences? How many children does a mother take care of in that home?
a. SOS Children’s Village and 10-15 children
b NOAPS and 15-20 children
C. Children's Homes and 1-10 children
d ICDS and 20 - 25 children
31. | A We AT Td GEERIOT & & H Ush 30T 3R ¥ Fae arer TaieHR 3ed TRe
LT AEAT & | 36 36TH & v 38 SR § f&F & ¥ &l & |graan gred s1gr graiy ?
&, gferegor
. AT G
A JTURH Err
q. fai T agrar
Mansi wants to start a technology oriented and investment intensive self-employment venture
in the field of food manufacturing and processing. Which of the following support will she not
get from the government for this venture?
a. Training
b Human Resources
C. Infrastructure
d Financial Support
32. | WA HdeAMST T & T Toh Haroel # &IH A gl ¢ | seal, Janit 3R gepEit & faw

TEATAT 3R FRFAT & JaUT H ASR/FRIT g0 & T 37 fohad spleral Hr 3maegsmar grei?

i. it f3oISeT alerer
i. AR faeevoT Hiere
jii.  STeT ierer
iv. URMaEfS hirer
e fawew giaw
F. i AR
. i 3R
i 3R
g i 3R iv
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Satnam wants to work in an organisation for vulnerable groups. What skills would he need
for making a career in management of institutions and programs for children, youth and
elderly?

i.  Graphic Design skills ii. Business Analysis skills

iii. People skills iv. Administrative skills
Choose the correct option.

a. iandii b. ii and iii

C. i and iii d. iii and iv

33. | GINUT Hedishel & fov ATl 7 & a1 3mawas § ?
i. el A e gAY

i. HAAHACT 7T

ii. Rfrcd sfagra

iv. W f gde 3R AuEE

e fawew gfaw
&, i 3Rl
. ii 3R iv
ar. i 3R i
i AR v
Which of the following is essential for Nutritional assessment?
i. Religious beliefs of the patient
ii. Anthropometric measurements
iii. Medication history
iv. Likes and dislikes of the patient

Choose the correct option.

a. i and iii b. i and iv
c. ii and iii d. i and iv
34. | AT § O Fil9  IRT & WRETT TIT@T JAdl 87
i. HASel YHhsaT
ii.  IRTELRAT
iii. TSl dmeT
iv. gFRIRAT
e faweq giav
& i AR iv
. i 3R iv
. i AR
. i 3R iv
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Which of the following are not traditional occupations of India?
i. Fishing
ii. Counselor
iii. Tile making
iv. Journalism
Choose the correct option.

a. iandiv b. i and iv
c. i and iii d. iii and iv
35. | GIveh HAEAS ¥ S & v &t d & i & srdenfaar § 2

i. AT MR Py ii. 3R 3¥ar Aol 3maRd SRS
ii. gaor JmenRa SRS iv. 9ISOT TR 3rraT IV Tieehior

T8 Rwer gfaw
& i 3R
g. i AR i
. i AR v
g i 3R iv

Which are the strategies used to combat Public Nutrition programmes?
i. Malnutrition based strategy
ii. Diet or Food based strategy
iii. Good Nutrition based strategy
iv. Nutrient based or Medicinal approach

Choose the correct option.
a. iandii
b. ii and iii
c. i and iv
d. iandiv

36. | et & @ Pl T WET TNHIUT & G607 & ?

i. ST BICHISS AAF (ARANET AR IR & FrY)

ii. IR I T

iii. g 3R @ de (Farfaa v ik & & @)
iv. oleFersl HoFd g
e fawew giaw

®. i 3R i

g. i 3R iv

T, i 3R v

g i 3R v
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Which of the following are examples of food fortification?
i. Double Fortified Salt (with lodine and Iron)
ii. Sugar free Tablets
iii. Milk and Edible Oil (with Vitamins A and D)
iv. Lactose free Milk
Choose the correct option.
a. i and iii b. ii and iv

c. iii and iv d.i and iv

37.

STl qYoT fIATST 318 & A T FT AT § 2

i, AOS & AT & IR TAAE IER A IR e
i. ALIT YROMHT FHT Gl FEAT

iii. Gvor RFufad 9 €T 7 S

iv. A & AT 3R ¥ AR =

T8 Rwer gfaw
& i 3
g. i AR v
i 3 i
g i 3R v
A professional clinical nutritionist does which work from the following?
i. Modifying the existing diet according to the patient’s disease.
ii. Following food fads.
iii. Not paying attention to nutritional status.
iv. Formulation of diet for the patient.
Choose the correct option.
a.iandii
b. i and iv
c. ii and iii
d. iii and iv

38.

T & @ Fla O ©aRos Solietor 3R 3T AT § 2
i, NES.UH.IS. IS
i. UH.UH.UE.U. FSSA
ii. TH.UL3Y. FPO
iv. TIHTR
e fawew giaw
F. i 3R
T i 3R
I i AR v
T i3 iv
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Which of the following are voluntary grading and marking schemes?

iii.
iv.

ISI
FSSA
FPO
Agmark

Choose the correct option

a.
C.

i and ii b. i and iii
ii and iv d. iandiv

39. | PREYT W FHITH & TaA6T & et o &-

i. @c 3#1'{ GHEHI3N Y HH LT
i.  FHHAATRAT T AR BT
jii. 3cdIGehdT FI TGTe
iv. 39 TUYUT Hiere famfad e

T8 Rwer gfaw
& i AR
g i3Riv
T i IR v
g i 3R v

The advantages of ergonomics at workplace are-
i. Reducing Injuries and accidents
ii. Recreation of employees
iii.  Enhancing productivity
iv. Developing excellent communication skills

Choose the correct option.
a. i andiii
b. iandiv
c. i and iv
d. iii and iv

40. |+ BT 71T & Fy=T Fr FAFFUT (A) 3 FROT (R) F & & 3ifra Far = 2

HAFYT (A) - HRT THR & FANOT T FATT FT FA T & A0 I Gwor Ay

IYATS |

FRUT (R) - 39 AIfd & had oed & T dY & godl & o0 HAHH g |
T v Reed & @ gaifts sy 3w gl

.

q 4 g

A 3R R a1 @8 § 3R R @@ sarer g

A 3R R gr @& § ofehed R TEr ST&AT 18T ¢
A g § 3R R 3T g

A 7o § Wed R F8T 8
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Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Government of India adopted National Nutrition Policy to reduce the problem
of Malnutrition.
Reason (R) - This policy has programmes for only children from birth to six years.
Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.
b. Both A and R are true but R is not the correct explanation.
c. A s true R is false.
d. A is false but R is true.

41, | #fr Re 7w g = Fr AFFRYA (A) 3R FROT (R) & & & 3ifha Far = ¢

#ffFUa (A) - 91 7€ F godt # Afee Rl F Swvw F w@r A gl

FROT (R) - 91T g1 # Eo aTod qe2/fheiR 3 EAITSH ded Bl

a2 R v Rwedl & ¥ waifts 39y s F1 a9 ffw)

%. A 3R RH T E IR R T A

g. A 3R R aEl @& g dfched R AT carear =gt gl

T A TEE IR R T B

. A Teld § Wed R T 8

Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- Children are kept under supervision in the Children's Home for various
reasons.

Reason (R) - Children/juveniles living in children's homes are anti-social elements.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. Ais true R is false.

d A is false but R is true.

42. | Rqu 9w & Fy=r F AfFFUT (A) JR FROT (R) F T A sifpa fmar @

HAFYT (A) - IR & Wi Al T FEA 3T FUreddl, TG GURA d Tied Feryd &
et et gfafRad e & faw fmar srar o |

HROT (R) - WIGT TET0T & fU Tl 9 FYUROT WReTd Qfear 39 g3 # a8 a8 S @
|

@ R v Reedt & § w&ifts sugea s@ gfav)

A 3R R @it e § 3R R @er eare g

A 3R R 2l @@ € dfehel R TET sarean =7 B

A |E § 3R R Terd Bl

A e § Wed R T &

a4 3

2021-22 TERM-I PRACTICE QUESTION PAPER-1  CLASS XIl HOME SCIENCE 064 PAGE. 14




Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- Initially the foods were processed to improve digestibility, palatability and
to ensure a continuous supply.

Reason (R) - For food processing, simple and traditional methods are not used now a
days.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. As true R is false.

d A is false but R is true.

43. | RE v & Fyat Fr 3aFFya (A) 3R FROT (R) & & & 3ifFa Far 1w g1

HAFYA (A) - HRA faeg A “AYAF TSI Fof FeheTl & |

FROT (R) - AT, §&T AT, 3ea Faa™ AR AYHAT o SRSt 7 Faa 96 @ 8, Ifew
&H 35 H g Wl g |

A U 71T fswedl # ¥ waifds sugFa s gfav

%. A 3R R T E R R FE AT g

A AR R g @1 € dfdhet R G sarear 8 g

A g8 § 3R R T g

A ITEd § Weg R T ¢

g 44

Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- India can become the “Diabetes Capital” of the world.
Reason (R) - Diseases like Obesity, Heart problems, Hypertension and Diabetes are not
only on the rise but are also taking place at an early age

Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. Ais true R is false..

d A is false but R is true

44, | BT 1T & AT Fr FAPFUT (A) 3 FROT (R) F & & 3ifra Far = 2
HHFUA (A) - FISFH & FAleiohl # IR g ey 93 & &1 § |
FROT (R) - A.T.d. (CAC) TF dESRI HEAT B

e e v REed & § w6t sugsa 3@ gfav
%. A AR R cE @@l § 3R R | sare gl

A 3R R g @1 € afehed R T8 e J@0 ¢
A T8 § 3R R TTd &

A a0 § Wed R FT 8

g 44
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Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Changes in CODEX standards are very slow.
Reason (R) CAC is an inter-governmental organization.
Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.
b Both A and R are true but R is not the correct explanation.
c. As true R is false.
d A is false but R is true.

45. | #fr RE 71T & = Fr IAPFUT (A) 3 FROT (R) F T & 3ifra Far = g
AHFFYA (A) - STaaT Fierel Fae TTT & TAELT 3R TAFH FI AchTE St H TelIh gid gl
HROT (R) - Shael Sirel Sfiael dr Sfdeh 3aeghaisit AR galfadl @ Qe & afFd H

eI A ¢ |

A T v el & ¥ FEftF 39gFa 3 gl
%. A 3R R T E R R FE AT g
g. A 3R R g T&r § ofhed R T8 carear «1gr gl
T A EE § IR R T B
g. A ed § Wed R HET B

Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Life skills only help in promoting one's own health and development
Reason (R) - Life skills assist a person in dealing with the daily necessities and

challenges of life.

Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. Ais true R is false.

d A is false but R is true.

46. | MY BT 71T QY FyaT Fr JAFYT (A) 3R FROT (R) F ® & 3ifha Far 4w &
FfAFYT (A) - W F F gaRT AT 3 R GaRT Aol &A1 51 Fhelr |
HROT (R) - WM AT AT So7 T FIH Tl AR oTell GaIRT AT ol g |

e e v Reed & § w6t sugsa 3@ gfav)

A 3R R g T8 § 31k R @@r sarer gl

A 3R R gt @@ € ofhT R @@ sarear a7 g

A TE g 3R R Ied gl

A ITed § Wed R T &

a4 3

Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Patient can be given food through tube or intravenous feeding.
Reason (R) - The best method of feeding the patient is through tube feeding.
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Select the most appropriate answer from the options given below.
a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

c. As true R is false.

d A is false but R is true.

Jr RE T & Fyat F dffFyT (A) 3 FROT (R) F T 7 3ifea fFar = g1

47.

HAFYT (A) - Weg IR IR A FET 3R diftes Greg gert & ge= e & v
gieg JoTadm 3R Wieg & & &7 H AR & FHEAN AR SHfder & a8 9 v
g1

FROT (R) - Wie T &1 Y Ig FARTT e & o Treg uerd @ 3usierar & frdr ofr
YR HI gt et gl |

A T v el & ¥ FEftF 39gFa 3 gAvl

. AR T8 IR R FEr AT B

@. A 3R R gl T@Er g ofched R TET a1&AT 78T &l

I AT T IR R T B

. A Ted § Wed R T 8

Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- To provide safe and nutritious food items in the food business environment,
the food quality and safety sector has greatly expanded the scope and has
increased career opportunities

Reason (R) - Food safety means ensuring that food does not cause any harm to the
consumer in any way.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b Both A and R are true but R is not the correct explanation.

C. A is true R is false.

d A is false, but R is true.

48. | Y U 71T g Fy=it F JAWFYT (A) 3R FROT (R) & T & 3ifFa fFar mw g1

FfAFYT (A) AR garT fFT T W FF F NF e 3R Seuea afafafa dr
ORE HETd col T T ¢l

HROT (R) - ARRTT 9RER & $ROT QEUT 1 F, T Fae2dm 3R 9Rar & geeat &
3T RS AH F G F ¢ |

T v Reed & @ gaifts sy 3w gl
®. A3 RaE @ ¢ 3R R wEr e gl

. A IR R g G g ofehed R T@r carEar =gr gl
T AT T IR T B

g. A7Ed g Reg R FET &
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Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Domestic work done by women needs to be valued as an economic
contribution and productive activity.
Reason (R) - The household chores performed by women support the family, manages
resources, and help the family members to perform their duties more efficiently.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b. Both A and R are true but R is not the correct explanation.
C. A is true R is false.

d. A is false but R is true.

49.

A e v @Y Fyat F JAFUT (A) 3R FROT (R) & T & 3fFa BFar a=w g
FfAFYT (A) - WS AR N TET THERUT 3¢9 [Afqer Jehk hr faATAA3iT ahr
AT T ¢ |
HROT (R) - 39 819 # @WeT 3R WeT 3curel & AT, 3937, qRIEr, d6 e 3R
faeror & fav faemer 3R Sl fahr & A 3R 38 HIAT HT HEeFhaT Bl §
I
T v Reedl & @ gaifts sy 3w g
®. A3 RaE A& E 3R R wEr e gl
A AR R gt @1 § oifht R F&r samear 87 g
A T & 3R R 90 B
A T § W R 8T 8

g 4 g

Given below are two statements labeled as Assertion (A) and reason (R)
Assertion (A)- Food Processing and Technology industry encompasses a diverse range
of specializations.
Reason (R) - This field requires the application of science and technology to the
processing, utilization, preservation, packaging, and distribution of food.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b. Both A and R are true but R is not the correct explanation.
C. A is true R is false.

d. A is false but R is true.

2021-22 TERM-I PRACTICE QUESTION PAPER-1 CLASS XIl HOME SCIENCE 064 PAGE. 18




®s T SECTION C
s - T H 6 W §1 gl 5 weAl & 3w QfSrwl wgd 5 weaAl & & Hediwer AT Sreem|
Section - C consists of 6 questions. Attempt any 5 questions from this section
The first attempted 5 questions would be evaluated.

SlIaeT & Ugel ©F dY AT Siiael & Hgedqul ay g Fifeh 3o ani # G $ X A &
ol 3 TROT T oI H S N g & | IRMEAR STedraeyr S@aHre 3R Rew (ECCE)
3eiias el & 3o gl TROM # Teh HaTeH 3R IROMEI aTdlaror i Giaem Jered &l
Sl & dreehiieles e 3R W@ # FhRIcHS A9TEH &l § | 90 & fdeameT o= @ qF
& 3@ RN 3R & ST &1 SEHTTRAT & ®T H AGr O g7 & T W d@S &
HATGleT aTel el H Hgeaqul &l

© G F Y § Tl & T vh qEi@ Qof AR FRiET aRaw 3qers 1A gu 36k
TAELY, ATH-A%E 3R 9IV0T 9T &1l S|

© URfAS SrearaEdr & aut A RIET F 3T F Fao Aegrea-qd Raw § afew @7 A,
hUT-gliaral AR Tl 3nfe & aAreasd & qeadi A f@en o affer g1 3-6 a¥ & 3y &
I @Y 3T g ¥ TWellel, serferat, fdr 3nfe @ & d@ad gl

The first six years of life are critical years of human life since the rate of development
in these years is more rapid than at any other stage of development. Early Childhood
Care and Education (ECCE) makes a positive contribution to children’s long-term
development and learning by facilitating an enabling and stimulating environment in these
foundation stages of lifelong learning.

The education of the child begins even before he goes to school. Parents as
caregivers are critical in providing a stimulating learning environment to the child.

e "Care" means focusing on the health, hygiene, and nutrition of children by providing
them a caring and safe environment.

* “Education” in the early childhood years means not only pre-school education but it
also includes teaching children through drama, storytelling and music etc. Children at
the age of 3-6 years learn best through toys, stories, songs, etc.

50.

fFrfaf@a # & fa 3Mg a1 & gt # s Fgd 872

G 2-3 ¥
g. 3-6 a¥
. 4-6 ¥
. 0-1 ay
Children in which of the following age group are called toddlers?
a. 2-3 years
b. 3-6 years
C. 4-6 years
d. 0-1 years
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51 | Ueh 3= SEHATIDAT & U hidd A HiAST gl glel AMRT?
&. TeATcHSAT . % 9% # 3R
T, IRF Theatd . YREIR hierel
What skills a good caregiver should not have?
a. Creativity
b Disinterest in cleanliness
C. Physical fitness
d. Interpersonal skills
52 | 9Rffe Srcaaedr ¢@He IR e E@ds) 7 Rer acd & & 9 AeAfaiad # @ ST
a1 ST &7 398 39es oT 39ersy A8 glem?
& fqau uHa Feg FH S@HTARAT
g A0 o Rew
A, STl o PRGAT H GHedTR
. HAA Hedlchel AT
Which of the following career opportunities would not be available to you after pursuing
education in Early Childhood Care and Education (ECCE)?
a. Caregiver in Day Care Centre
b. Nursery School teacher
C. Coordinator in children’s programmes
d. Sensory evaluation expert
53 | GofAT Fo¥ aa H HMEThT ol HH HIAT § | 96 39 3 Al 3R 4 Al & gl & v TWaR
g@NT HaTfod IRfAe RIam fr HlsT @ glawr &1 e 3oT Fehdl 82
C) ACHT Fhol
g. TE.3ud. 9 g
£l} T Fhol
13 3TaTAaTST
Salma works as an embroiderer in a remote village. Which government-run preschool
education facility can she avail for her 3-year-old and 4-year-old children?
a. Montessori School
b. SOS Children's Village
C. Nursery School
d. Anganwadi
54 | a1 Y& AAIdAAR $I g Y, [dH & Th o YT Siided Ig GHSTT HI FHifer d faarar

fo qedl & 99 gferar  FES & Afde s 8 3R 3¢ demee & foU vs #grieh ardreron
I JTERIHAT §, Sdieh gaR o g<dl & v Ueh RKidriel, @ e are 3R SE6R aaes g
T I aeTSRdr S g2 |

i. ST e

i, ATRAT AlCHT

ii. TR TRewT

iv. SN

2021-22 TERM-I PRACTICE QUESTION PAPER-1 CLASS XIl HOME SCIENCE 064 PAGE. 20




el fasen giav|

& i 3R . i 3l

A i AR v g iR v
Identify two eminent psychologists, one of whom spent his life trying to understand that
children have different ways of understanding the world and need a supportive environment
to explore, while the other outlined the great need for children to have a concerned, caring,
and knowledgeable adult.

i. Jean Piaget

ii. Maria Montessori

iii. Erik Erikson
iv. Vygotsky
Choose the correct option.
a. iandii
b. ii and iii
c. i and iv
d. iandiv

55

AT e v @Y Fyat 1 JAFYT (A) 3R FROT (R) & T & 3fFa BFar m=aw g
HAFYT (A) - BIC oI HHA AT T & I Higd I Hhd ¢, ST fdedrerd qa Refs
& FeEl & T 3Hejehel 3R Siel gl 31aRas gl
FROT (R) - Ueh YAl faamor qd et 3@ Sifde 7 99 & ¥ Ugol & ©i¢ s<=ai 4
"t arfafafedr 3R fafatr swor wirel $1 Golel IR # AT § i g6 qid 3o 37w
3T AT deoT FHl
A T aT RFFedl & @ wafls 39gFa s F1 99T HfAw
& A 3R R gl @&r § 31k R gl <Irer g
3. A 3R R gl @& & 31X R |l <Ir&dm «igh g
T, A TE & 3R R T &
g A TTod g Wed R &I &
Given below are two statements labeled as Assertion (A) and reason (R)

Assertion (A)- Young children have a short attention span, hence it is essential

for a preschool teacher to be adaptive and flexible with children.

Reason (R) - An effective pre-school teacher prepares a large repertoire of activities
related to young children and diverse skills in arts before entering this career so that
he/she can quickly change his/her strategy and adapt according to them.

Select the most appropriate answer from the options given below.

a. Both A and R are true and R is the correct explanation.

b. Both A and R are true but R is not the correct explanation.

c. A is true R is false.

d. A is false but R is true.
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